
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(حساب الأسس (الأس السالب

3 + (−10) = 5 + (−9) =0

7 − 8 =(−2) 5 + (−4) =(−2)

3 − (−5) =(−2) (−7) − (−2) =2

2 + (−9) =(−2) (−6) − (−1) =(−1)

(−1) + 2 =(−2) (−4) − 2 =0

(−6) + 5 =2 (−9) − 4 =(−2)

8 − (−7) =2 7 − 5 =(−1)

1 − (−10) =(−1) (−4) − 6 =

(−2) − 4 =(−1) 8 + 10 =2

3 − 7 =2 (−9) − (−2) =2
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(حساب الأسس (الأس السالب

3 + (−10) = (−7) 5 + (−9) = (−8)0

7 − 8 = (− ) = (−7 )(−2)

49
391

49
48

5 + (−4) = (− ) = (−3 )(−2)

25
99

25
24

3 − (−5) = = 5(−2)

9
46

9
1

(−7) − (−2) = 512

2 + (−9) = (− ) = (−8 )(−2)

4
35

4
3

(−6) − (−1) =(−1)

6
5

(−1) + 2 = 3(−2) (−4) − 2 = (−1)0

(−6) + 5 = 412 (−9) − 4 = (− ) = (−3 )(−2)

81
323

81
80

8 − (−7) = 712 7 − 5 = (− ) = (−4 )(−1)

7
34

7
6

1 − (−10) = 11(−1) (−4) − 6 = (−10)

(−2) − 4 = (− ) = (−4 )(−1)

2
9

2
1

8 + 10 = 742

3 − 7 = 22 (−9) − (−2) = 832
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